LASER MASTER 2 S2






THANK YOU'!

Dear friends,

Thank you for purchasing the Ortur Laser Master 2 52 laser engraver. We really appreciate your recognition
and sincerely hope you enjoy this product.

ORTUR |s a company specializing in the manufacture and research of laser engraving machines, At
present, ORTUR's products are sold all over the world, occupying a leading position in the industry. We
bring you the road of innovation with professional technology and services!

ORTUR's mission Is to expand and innovate in the field of laser engraving to make its machines safer,
faster. Most importantly, affordable for everyone. Help small makers, studio artists, engineers and
freelancers grow their businesses and generate mare income.

If you have any guestions, please feel free to let us know and we will be here to help you. You can join our
Facebook group, which brings tagether innovators like you to share their ideas and get inspired by others.

Thank you again for your support, we will continue to provide guality products and services!



Content
DE - Inhalt FR - Contenu

Disclaimer and Safety Guidelines / Haftungsausschluss und Sicherheitsrichtlinien
/ Clause de non-responsabilité et consignes de securite

Package Contents / Packungsinhalt / Contenu du colis -

Install the Machine / Installieren Sie den Laser / Installer l'appareil

Install the Laser Module / Installieren Sie das Lasermodul
/ Installer le module laser

44

Important Note / Wichtiger Hinweis f Remargue importante

Port Description / Anschlisse / Désignation des parts

46

47

Quick Start / 5chnellstart / Démarrage rapide

51

Madify parameters before using YRR2.0
/ &ndern Sie die Parameter, bevor Sie YRR2.0 verwenden
/ Modifier les parametres avant d'utiliser YRR2.0

[en] The pictures in this manual are for reference only. Please refer to the material object received!
Die Bilder in dieser Anleitung dienen nur als Referenz. Bitte beziehen Sie sich auf das erhaltene Material!
Les images de ce manuel sont fournies a titre de référence uniquement. Veuillez vous référer a l'objet matériel regu !

-02-



Disclaimer and Safety Guidelines

DE - Haftungsausschluss und Sicherheitsrichtlinien
FR - Clause de non-responsabilite et consignes de securite

s

1. The laser enggaver could generate laser light. It is strictly forbidden to place any living body under the laser
emission part (this port is marked with a yellow warning sign).
2. Patients with photosensitive epilepsy are prohibited from using or approaching the laser device,
3. wWhen using the laser engraving machine, the operator and anyone near the machine must wear laser safety
%lasses. Do not operate the laser without glasses protection (laser goggles).

ur machlnues come with a pair of safety gogagles, but additional laser safety glasses can be purchased
COommerciatly.
Reqguirements for goggles: wavelength protection 400-445nm (+-5nm), outer diameter +5, minimum L-level L5.
4, when the laser engraver is working, the operator must pay close attention and not place it alone to prevent the
engraved material from catching fire. o
Please set up the laser engrauer in a fireproof area and ensure good ventilation, .
If passible, we recommend that you purchase a fire extinguisher and keep it close to the machine.
5. Using the laser engraver in a room that can be closed by a door, making sure that neither the laser beam nor
stray light can penetrate the window.
6. When using the laser engraver, put the door sign or the warning light on the door to indicate that the laser
Engraver is running.

7. Make sure there is na flammable material near the laser engraver, we recommend put a fireproof mat under
the machine.

8. Ensure adequate environment when operating the laser engraving. Engraving certain materials may generate
fumes, which should be exhausted by a dedicated filtered exhaust.

9. When the machine is running, do not touch the laser beam or touch it with other objects, which may cause
serious bodily injury or beam reflection, .

Do nat touch the radiator, you may burn your body and hands when the laser engraver just staps warking.

10. Do not let children or teenagers use the laser engraver alone (especially children under the age of 14), adult
supervision is required at all times.

11. For commercial use, using and registering with regulatory authorities and professional assaciations is
mandatory.

12. The operating temperature range of the machine is-15°C ~ 30°C.

13. There would be a high risk of fire, when the laser irradiates the En%raved object. If the laser engraver is
working, it must be taken care of at all imes by the skilled operator, who knows how to use a fire extinguisher, so
that any unexpected situations could be dealt with in time,

-03-




1. Der Lasergravierer konnte Laserlicht erzeugen, Es ist strengstens verboten, lebende Korper unter die Laseremissionsoff-
nung zu bringen (diese Offnung ist mit einem gelben Warnschild gekennzeichnet).

2. Patienten mit lichtempfindlicher Epilepsie ist es untersagt, das Lasergerat zu verwenden oder sich ihm zu ndhern.

3. Bei der Verwendung der Lasergravurmaschine missen der Bediener und alle Personen in der Nahe der Maschine eine
Laserschutzbrille tragen. Betreiben Sie den Laser nicht ohne Brillenschutz (Laserbrille).

Unsere Maschinen werden mit einer Schutzbrille geliefert, aber zusatzliche Laserschutzbrillen kdnnen im Handel erworben
werden.

Anfarderungen an Schutzbrillen: Wellenlangenschutz 400-445 nm (+-5 nm), AuBendurchmesser +5, mindestens L-Level
L5,

4. Wenn der Lasergravierer arbeitet, muss der Bediener genau aufpassen und ihn nicht alleine platzieren, um zu
verhindern, dass das gravierte Material Feuer fangt,

Bitte stellen Sie den Lasergravierer in einem feuersicheren Bereich auf und sorgen Sie fir gute BelGftung.

Wenn maéglich, empfehlen wir Ihnen, einen Feuerldscher zu kaufen und ihn in der Nahe der Maschine aufzubewahren.

5. Verwenden Sie den Lasergravierer in einem Raum, der durch eine Tur geschlossen werden kann, und achten Sie darauf,
dass weder der Laserstrahl noch Streulicht durch das Fenster dringen kann.

6. Wenn Sie den Lasergravierer verwenden, bringen Sie das Turschild oder die Warnleuchte an der Tur an, um anzuzeigen,
dass der Lasergravierer lauft.

7. Stellen Sie sicher, dass sich kein brennbares Material in der Nahe des Lasergravierers befindet. Wir empfehlen, eine
feuerfeste Matte unter die Maschine zu legen.

8. Stellen Sie beim Betrieb der Lasergravur eine angemessene Umagebung sicher, Beim Gravieren bestimmter Materialien
konnen Dampfe entstehen, die durch einen speziellen gefilterten Auspuff abgefihrt werden sollten,

9. Berlihren Sie bei laufender Maschine nicht den Laserstrahl oder berlhren Sie ihn mit anderen Gegenstanden, da dies zu
schweren Korperverletzungen oder Strahlreflexionen fihren kann.

Beriihren Sie den Kihler nicht, Sie kénnten sich Kérper und Hande verbirennen, wenn der Lasergravierer einfach aufhort zu
arbeiten.

10. Lassen Sie Kinder oder Jugendliche den Lasergravierer nicht alleine benutzen (insbesondere Kinder unter 14 Jahren),
die Aufsicht eines Erwachsenen Ist jederzeit erforderlich.

11. Fr die gewerbliche Nutzung ist die Nutzung und Registrierung bei Aufsichtsbehdrden und Berufsverbdnden zwingend
erforderlich.

12. Der Betriebstemperaturbereich der Maschine betragt -15°C ~ 30°C.

13. Es besteht eine hohe Brandgefahr, wenn der Laser das gravierte Objekt bestrahlt. wenn der Lasergravierer funktioniert,
muss er jederzeit von einem erfahrenen Bediener betreut werden, der mit dem Umgang mit einem Feuerldscher vertraut
ist, damit unerwartete Situationen rechtzeitig behoben werden kbnnen.

-04-




1. Le graveur laser peut génerer un faisceau laser. Il est strictement interdit de placer tout corps vivant sous le part
d'émission laser (ce port est margué d'un panneau d'avertissement jaune).

2. |l est interdit aux personnes souffrant d'épilepsie photosensible d'utiliser ou de s'approcher de l'appareil laser.

3. Lors de |'utilisation de la machine de gravure laser, l'opérateur ainsi que toute personne a proximité de la machine
doivent porter des lunettes de sécurité laser. N'utilisez pas le laser sans lunettes de protection (lunettes laser).

Mos machines sont livrées avec une paire de lunettes de sécurite, mais des lunettes de sécurité laser supplémentaires
peuvent étre achetees dans le commerce.

Exigences pour les lunettes ; protection contre les longueurs d'ande 400-445 nm (+-5 nm), diameétre extérieur +5, niveau L
minimum LS.

4, Lorsque le graveur laser fonctionne |'utilisateur doit rester vigilant et & proximite immediate de |'apparell pendant toute
la durée de la gravure, pour éviter les risques d'incendie,

Veuillez installer le graveur laser dans une zone ignifuge et assurer une bonne ventilation.

Si possible, nous vous recommandaons d'acheter un extincteur et de le garder a proximite de la machine.

5. Utilisez le graveur laser dans une piéce qui peut étre fermée par une porte et assurez-vous que ni les rayons laser nila
lumiére parasite ne peuvent penetrer par les fenétres.

6. Lorsgue vous utilisez le graveur laser placez un signe sur la porte ou un avertisseur lumineux pour Indiguer gue le laser
est en fonctionnement.

7. Assurez-vous gu'il n'y a pas de matériad inflammable a proximité du graveur laser, nous vous recommandons de placer
un tapis ignifuge sous la machine.

8. Assurez-vous que l'envirannement est adequat lors de |'utilisation du graveur laser. La gravure de certains matériaux
peut générer des fumees, qui doivent &tre évacuges et filtrées par une évacuation dédice.

9. Lorsgue la machine est en marche, ne touchez pas le faisceau laser ou ne le touchez pas avec d'autres objets, ce qui
pourrait entrainer des blessures corporelles graves ou une reflexion du faisceau.

Ne touchez pas le radiateur, vous risquez de vous braler le corps et les mains et ceta méme lorsgue e graveur laser cesse
de fonctionner.

10. Ne laissez pas les enfants ou les adolescents utiliser le graveur laser seuls (en particulier les enfants de moins de 14
ans), la surveillance d'un adulte est requise 4 tout moment.

11. Pour un usage commercial, ['utilisation et 'enregistremnent auprés des autorités réglementaires et des associations
profession- nelles sont obligatoires.

12. La plage de température de fonctionnement de la machine est de -15°C ~ 30°C,

13, Ily aurait un risque eleve d'incendie, lorsque e laser irradie |'objet grave. Si le graveur laser fonctionne, il doit étre
surveillé a tout moment par |'opérateur gualifié, gui sait utiliser un extinctewr, afin gue toute situation inattendue puisse
etre traltee a temps.

-05-




Package Contents
DE - Packungsinhalt FR - Contenu du colis

O Pre-assembled Assembly / Vormontierte
Montage / Assemblage pre-assemble *1

O % Aluminum Profile-464mm
/X Aluminiumprofil-464mm
/ Profil en aluminium X-464mm *2

[0 Base Anchors / Basisanker
/ Ancres de base *3

(1 M5*20mm Screws / M5*20mm
Schrauben / Vis M5*20mm *B

O M5 Profile Nuts / M5 Profilmuttern
/ Ecrous profilés M5 *1

B

0

El

-06-

¥ Limit Switch / Y-Endschalter
/ Cormmutateur de limite Y ™1

Y Aluminum Profile-540mm
! Y-Alumiriumprofil-540 mm
! Profil en aluminium Y-540mm *2

Timing Belt./ Zahnriemen
/ Courroie de distribution *2

9

M5*10mm Screws / M5*10mm
Schrauben / Vis M5"10mm *5

T

M5 Spacers / M5 Abstandshalter
[ Entretoises M5 *3

O



[0 Testing Acrylic / Acryl zum testen [0 USB Cable / USB-Kabel / Cable USB *1

/ Plague de test en acyligue *1 @

O Testing Aluminium Sheet Testing Woods / Holz zum testen
/ Pridfung von Aluminiumblech / Plague de test en bois *4
/ Feuille d'aluminium d'essai *1

g 3

0O 2mmAllen key / 2-mm-Inbusschltssel
O Brush / Biirste / Brosse *1 / Clé Allen de 2mm *1

— 4

O wrench / Schlissel / Clé*]

O

O

Laser Goggle / Laserbrille / Lurette Laser *1
E— >

0 cable Ties / Kabelbinder [0 Power Adapter / Netzteil / Adaptateur
/ Attaches de cable *5 secteur *1

= 4
O Split wire Loom Insertion Taol

/ Werkzeug zum Einsetzen van

geteilten Kabelbaumen

/ Qutil d'insertion de métier a
tisser fendu *1

-07-



LU2-4-LF Laser Module

DE - LU2-4-LF Lasermodul FR - Module laser LU2-4-LF

[

LU2-4-LF Laser Module / LUZ2-4-LF Lasermodul
/ Module laser LU2-4-LF *1

Laser Shield / Laser-Schild / Bouclier laser *1

Focal Gauge / Fokusanzeige / Jauge focale *1

|

Air Assist / Luftunterstitzung / Buse d'air

F

Pipe Connector / Rohrverbinder
/ Caonnecteur de tuyau *1

-08-

Screws + Nuts / Schrauben + Muttern
/ Vis + Ecrous *2

=

Thumbscrew / Fligelschraube / Vis moletée *1

E;ﬂﬂ

Air Flow Regulator / Luftstromregler
/ Régulateur de déhit d'air *1
(YY)

)

Air Fipe (OD:6mm ID:4mm)
/ Luftleitung (AD: 6mm ID; 4mm)
/ Conduite d'air (OD: 6mm |D: 4mm) *1

O



[0 Set Screws / Stellschrauben O Quick Twist At Right Angle
/ Vis de reglage *2 / 5chnelle Drehung im rechten Winkel
/ Torsion rapide a angle droit *1

m
-~

O 1.5mm Allen key / 1.5-mm-Inbusschitssel / Cle
Allen de 1.5mm *
o ———
|

LU2-4-SF Laser Module
DE - LU2-4-SF Lasermodul FR - Module laser LU2-4-5F

0 LU2-4-5F Laser Module / LU2-4-5F Lasermodul [ Focal Gauge Board / Focal Gauge Board
/ Module laser LU2-4-5F *1 / Carte de jauge facale *1

O Thumbscrew / Flugelschraube / Vis moletée *1

h

-09-



LU2-10A Laser Module
DE - LU2-10A Lasermodul FR - Module laser LU2-10A

[0 LU2-10A Laser Module / LU2-10A Lasermodul [ Laser Shield / Laser-Schild / Bouclier laser *1

/ Module laser LU2-104*1 .|

S

O Air Assist / Luftunterstitzung / Buse d'air O Thumbscrew / Fligelschraube / Vis moletee "1
O Pipe Connector / Rohrverbinder O ‘Air Flow Regulator / Luftstromregler

/ Connecteur de tuyau *1 / Regulateur de debit d'air *1
O Air Pipe (OD:6mm ID:4mm) O 2S2-10W adapter cable

/ Luftleitung (AD: 6mm ID: 4mm) /2S2-10W Adapterkabel

/ Conduite d'air (OD: 6mm ID: 4mm) *1 /Cable adaptateur 252-10W*1

[0 Cable Ties / Kabelbinder
[ Attaches de cable *10




LU2-2(2.1w) Laser Module
DE - LU2-2(2.1w) Lasermodul ~ FR - LaserModule laser LU2-2(2.1w)

LU2-2(2.1w) Laser Module / LU2-2(2.1w) Lasermodul / [0 Laser Shield / Laser-Schild / Bouclier laser *1

Module laserLU2-2(2.1w) *1

[ Focal Gauge Board / Focal Gauge Board / 0 Thumbscrew / Flugelschraube / Vis moletee *1
Carte de jauge focale *1

I -



Install the Machine

DE - Installieren Sie den Laser FR - Installer 'appareil

1.0 O ¥ aAluminum Profile-464mm
[ X Aluminiumprofil-464mm
{ Prafil en aluminium X-464mm *2

O M5*20mm Screws / M5*20mm
Schrauben / Vis M5*20mm *4

2.0 [0 Pre-assembled Assembly / Vormontierte
Montage / Assemblage pré-assemble *1

O Y Aluminum Profile-540mm
{ Y-Aluminlumprofil-540 mm
/ Profil en aluminium Y-540mm *2



1.1

13-



2.1

Scale 0 / MaBstab 0 / Echelle 0



3.0 O Base Anchors / Basisanker
[ Ancres de base *2

[ M5*20mm Scraws / M5*20mm
Schrauben / Vis M5*20mm *2

[1 M5 Spacers / M5 Abstandshalter
/ Entretoises M5 *2

Q

O Timing Belt / Zahnriemen
/ Courraie de distribution *2

-

0 M5%10mm Screws / M5*10mm
Schrauben / Vis M5*10mm *2

e



3.




The timing belt passes through the wheels and presses the synchro wheel.
/ Der Zahnnemen luft durch die Rader und drickt auf das Synchronrad.
/ La courroie de distribution traverse les roues et appuie sur la roue synchro.

A7-



4.0

The pre-assembled assembly is pushed to the bottom.
/ Die varmontierte Baugruppe wird nach unten geschoben,
/ U'ensemble pre-assembile est pousse vers le bas.

You must let both wheels hit the base anchor together!
f Sie missen be ader gemeinsam auf den Basisanker treffen lassen
f Vous de: feux roues toucher ['ancre de base ensembilel

18-



5.0 [ Base Anchor / Basisanker
/ Ancres de base *1

0 M5*20mm Screw / M5*20mm
Schrauben / Vis M5*20mm *1

6.0 [ Y LimitSwitch / Y-Endschalter
[ Commutateur de limite Y *1

[0 M5*20mm Screw / M5*20mm
Schrauben / Vis M5*20mm *1

M5*10mm Screw / M5*10mm
Schrauben / vis M5*10mm *1

-

M5 Spacer / M5 Abstandshalter
/ Entretoises M5 *1

O

M5*10mm Screws / M5*10mm
Schrauben / Vis M5*10mm *2

e

M5 Profile Nuts / M5 Profilmuttern
[ Ecrous profiles M5 *1



5.1

Please tighten the timing belt!
/ Bitte Zahnriemen spannen!
/ Veuillez serrer la courroie de distribution|

-20-



Please tighten the timing belt!
/ Bitte Zahnriernen spannen!
{ Veuillez serrer la courroie de distribution!

21-



6.2

22




7.0

Flip the cable over. / Drehen Sie das Kabelum. / Retourr

23-

ez le cable.



8.0

The screw clamps the ground wire.
/ Die Schraube klemmt das Erdungskabel.
/ Lavis serre e fil de terre.

Plug in the red and black cables. / SchlieBen Sie die roten und schwarzen Kabel an.
/ Branchez les cables rouge et noir,

24-



Install the LU2-4-LF Laser Module
DE - Installieren Sie das LU2-4-LF Lasermodul FR - Installer le module laser LU2-4-LF

[0 LU2-4-LF Laser Module / LU2-4-LF Lasermadul O Screws + Nuts / Schrauben + Muttern
/ Module laser LU2-4-LF *1 /' Vis+Ecrous *2

= Bo=

[0 Laser Shield / Laser-Schild / Bouclier laser *1 [0 Thumbscrew / Fligelschraube / Vis moletée *1

-25-



11

Tighten the thumbscrews!
/ Fligelschraube festziehen|
{ Serrez les vis moletees!

-26-



1.2

27-

The screw clamps the ground wire,
/ Die Schraube klemmt das Erdungskabel.
/ Lavis serre le fil de terre.




1.3 How to Use the Focal Gauge | Verwendung des Fokalmessgerdts | Comment utiliser la jauge de focalisation

Loosen the thumb screw and slide the laser module down until it fits the focus gauge and
isin focus.

Losen Sie die Réandelschraube und schieben Sie das Lasermodul nach unten, bis es in die
Fokuslehre passt und scharfgestellt ist.

Desserrez la vis a oreilles et faites glisser le module laser vers le bas jusqu'a ce qu'il
s'adapte a la jauge de mise au point et qu'il soit mis au point.

1.4 How to connect the air pump | Woist die luftpumpe | Comment connecter la pompe a air

2) 3)

Loosen the fixing screws first and then remove the cover

Losen Sie zuerst die Befestigungsschrauben und entfernen Sie dann die Abdeckung
Desserrez d'abord les vis de fixation, puis retirez le couvercle.

-28-



4) - [N Please put the air pipe into the regulating valve and press it to adjust the proper
. airflow.

. Stecken Sie den Luftschlauch in das Regulierventil und driicken Sie es, um den
richtigen Luftstrom einzustellen.

Introduisez le tuyau d'air dans la valve de régulation et appuyez dessus pour
régler le débit d'air approprié.

The pipe connector connection is connected to the air pump (an air pump with an air
flow of 40 |/min is recommended).

Der Anschluss des Rohrverbinders wird an die Luftpumpe angeschlossen (empfohlen
wird eine Luftpumpe mit einem Luftdurchsatz von 40 |/min).

Le raccord du tuyau est connecté a la pompe a air (une pompe a air avec un débit de
40 |/min est recommandée).

[EN] Do not install the air assist device on the laser module without an external air pump, otherwise the laser module will be
damaged during use!

Installieren Sie die Luftunterstiitzungsvorrichtung nicht ohne eine externe Luftpumpe am Lasermodul, da das Laser-
modul sonst wahrend des Gebrauchs beschadigt wird!

N'installez pas le dispositif d'assistance pneumatique sur le module laser sans pompe a air externe, sous peine
d'endommager le module laser en cours d'utilisation !

1.5 maintain your Laser Module | Wartung lhres Lasermoduls | Utilisation de Fométre

[EN] If the laser module is not used for a long time or is used for more than 30 hours, clean the
lens with medical alcohol and cotton swab. Unclean lenses can weaken the power of the
laser.

[DE] Wenn das Lasermodul langere Zeit nicht benutzt wird oder ldnger als 30 Stunden in

3 Betrieb ist, reinigen Sie die Linse mit medizinischem Alkohol und einem Wattestdbchen.
Ungereinigte Linsen kdnnen die Leistung des Lasers schwéchen.

[FR] Si le module laser n'est pas utilisé pendant une longue période ou s'il est utilisé pendant

plus de 30 heures, nettoyez la lentille avec de |'alcool médical et un coton-tige. Les
lentilles non nettoyées peuvent affaiblir la puissance du laser.

-29-



Install the LU2-2(2.1w) Laser Module
DE - Installieren Sie das LU2-2(2.1w) Laser modul FR - Installer le Module laser LU2-2(2.1w)

[ LU2-2(2.1w) Laser modul / LU2-2(2.1w) Lasermodul O Focal Gauge Board / Focal Gauge Board
/ Module Laser LU2-2(2.1w) / Carte de jauge focale ™

-30-



11

Tighten the thumbscrews|
{ Fligelschraube festziehen!
/ Serrez les vis moletées!

31-



1.2

v clamps the ground wire,
/ Die Schraube klemmit das Erdungskabel.
/ Lavis serre le fil de terre,

32-



1.3 How to Use the Focal Gauge | Verwendung des Fokalmessgerats | Comment utiliser la jauge de focalisation

| I | |
—E———

Before engraving or cutting objects, please find the focus of the laser module and focus according to
steps 1 and 2! After focusing, the focus gauge board must be removed, as shown in step 3.

Vor dem Gravieren oder Schneiden von Objekten miissen Sie den Fokus des Lasermoduls ermitteln

und gemal Schritt 1 und 2 fokussieren! Nach der Fokussierung muss die Fokusmessplatte entfernt
werden, wie in Schritt 3 gezeigt.

Avant de graver ou de découper des objets, repérez le foyer du module laser et procédez a la mise au

point conformément aux étapes 1 et 2 ! Apres la mise au point, la carte de la jauge de mise au point
doit étre retirée, comme indiqué a l'étape 3.

1.4 maintain your Laser Module | Wartung lhres Lasermoduls | Utilisation de Fomeétre

If the laser module is not used for a long time or is used for more than 30 hours, clean the
lens with medical alcohol and cotton swab. Unclean lenses can weaken the power of the
laser.

Wenn das Lasermodul ldangere Zeit nicht benutzt wird oder langer als 30 Stunden in
Betrieb ist, reinigen Sie die Linse mit medizinischem Alkohol und einem Wattestdbchen.
Ungereinigte Linsen kdnnen die Leistung des Lasers schwachen.

Si le module laser n'est pas utilisé pendant une longue période ou s'il est utilisé pendant
plus de 30 heures, nettoyez la lentille avec de l'alcool médical et un coton-tige. Les
lentilles non nettoyées peuvent affaiblir la puissance du laser.

-33-



Install the LU2-4-SF Laser Module
DE - Installieren Sie das LU2-4-SF Lasermodul FR - Installer le module laser LU2-4-5F

[0 LU2-4-SF Laser Module / LU2-4-5F Lasermodul O Focal Gauge Board / Focal Gauge Board
/ Module laser LU2-4-5F*1 / Carte de jauge focale *1

[1 Thumbscrew / Flligelschraube / Vis moletée *1

34-



11

Tighten the thumbscrews|
/ Fligelschraube festziehen!
/ Serrez les vis moletées!

-35-



1.2

-36-

The screw clamps the ground wire,
/ Die Schraube klemmit das Erdungskabel.
/ La vis serre le fil de terre.




1.3 How to Use the Focal Gauge | Verwendung des Fokalmessgerats | Comment utiliser la jauge de focalisation

| I | |
——— -

Before engraving or cutting objects, please find the focus of the laser module and focus according to
steps 1 and 2! After focusing, the focus gauge board must be removed, as shown in step 3.

Vor dem Gravieren oder Schneiden von Objekten miissen Sie den Fokus des Lasermoduls ermitteln
und gemaf Schritt 1 und 2 fokussieren! Nach der Fokussierung muss die Fokusmessplatte entfernt
werden, wie in Schritt 3 gezeigt.

Avant de graver ou de découper des objets, repérez le foyer du module laser et procédez a la mise au
point conformément aux étapes 1 et 2 ! Apres la mise au point, la carte de la jauge de mise au point
doit étre retirée, comme indiqué a l'étape 3.

1.4 maintain your Laser Module | Wartung Ihres Lasermoduls | Utilisation de Fométre

If the laser module is not used for a long time or is used for more than 30 hours, clean the
lens with medical alcohol and cotton swab. Unclean lenses can weaken the power of the
laser .

Wenn das Lasermodul léngere Zeit nicht benutzt wird oder ldnger als 30 Stunden in
Betrieb ist, reinigen Sie die Linse mit medizinischem Alkohol und einem Wattestabchen.
Ungereinigte Linsen kénnen die Leistung des Lasers schwéchen.

Si le module laser n'est pas utilisé pendant une longue période ou s'il est utilisé pendant
plus de 30 heures, nettoyez la lentille avec de ['alcool médical et un coton-tige. Les
lentilles non nettoyées peuvent affaiblir la puissance du laser.

-37-



Install the LU2-10A Laser Module

DE - Installieren Sie das LU2-10A Lasermodul FR - Installer le module laser LU2-10A

O LU2-10A Laser Module / LU2-10A Lasermodul
/ Module laser LU2-104*1

O Thumbscrew / Fligelschraube / Vis moletée *1

E

[1 Cable Ties / Kabelbinder
/ Attaches de cable *4

—

[ Laser Shield / Laser-Schild / Bouclier laser *1

L
[1 2S2-10W adapter cable /

252-10W Adapterkabel /
Cable adaptateur 252-10W*1

R

-38-



13

Tighten the thumbscrews!
! Fligelschraube festziehen|
/ Serrez les vis moletées|

-39-



1.0

[en] Connect LU2-10A
[ LU2-10A anschlieRen
[rR| Connecter LU2-10A

[en] Connect Laser Wire
[oe] Laserkabel anschlieRen

[r] Connecter le fil laser




1.4 How to Use the Focal Gauge | Verwendung des Fokalmessgerats | Comment utiliser la jauge de focalisation

To install the laser shield, the long clip must be inserted into the wide
card slot first.

[bE| Um das Laserschild zu installieren, muss die lange Klemme zuerst in
den breiten Kartenschlitz eingefiihrt werden.

[rr| Pour installer le bouclier laser, le clip long doit d"abord étre inséré
dans la fente large de la carte.

[en] Focal Gauge Rod

[oe] eingraviertes Objekt oe] fokale Messlatte
[fr] objet gravé [Fr] tige de jauge focale

After installing the long clip, firmly press one side of the short clip to
let the short clip enter the narrow card slot.
[og]

E
nach der Installation des langen Clips driicken Sie leicht auf eine Seite
des kurzen Clips, damit der kurze Clip in den schmalen Kartenschlitz
eingefiihrt werden kann.

[FR] Aprés avoir installé le clip long, appuyez fermement sur un cété du

clip court pour le faire entrer dans la fente étroite de la carte.

41-



1.5 How to connect the air pump | Wo ist die luftpumpe | Comment connecter la pompe a air

o

[en] No need to install air assist when not using an air compressor.
keine Notwendigkeit, Luftunterstuitzung zu installieren, wenn kein Luftkompressor verwendet wird.
il n'est pas nécessaire d'installer |'assistance pneumatique lorsque vous n'utilisez pas de compresseur d'air.

ENE]

[n] You only need to remove the rubber plug
whenair assist is used. Please install the

: rubber plug when air assist is not used.
o€ Sie miissen nur den Gummistopfen entfernen,
wenn die Luftunterstiitzung verwendet wird.
Bitte installieren Sie den Gummistopfen, wenn
die Luftunterstiitzung nicht verwendet wird.

[/ il suffit de retirer le bouchon en caoutchouc
lorsque 'assistance pneumatique est utilisée.
Veuillez remettre en place le bouchon en
caoutchouc lorsque l'assistance pneumatique
n'est pas utilisée.

o
2

[EN] The pipe joint is connected to the air
compressor (it is recommended to use
an air compressorwith an air flow of
40L/min)

die Rohrverbindung wird an den
Luftkompressor angeschlossen (es wird
empfohlen, einen Luftkompressor mit

[en] Air Flow Regulator
oe| der Luftstromregler
rr| régulateur de débit d'air

=]
-

einer Luftmenge von 40L/min zu —
verwenden)
[R] le joint du tuyau est connecté au .
compresseur d'air (il est recommandé 8/ Pipe Connector
d'utiliser un compresseur d'air avec un [ce|Rohrverbinder

débit d'air de 40L/min). [rR]connecteur de tuyau

-42-



1.6 Maintain your Laser Module | Pflegen Sie lhr Lasermodul | Entretien du module laser

If the laser module is not used for a long time or is used for more than 1
O hours,clean the lens with medical alcohol and cotton swab.
Unclean lenses will weaken the power of the laser.

Wenn das Lasermodul ldngere Zeit nicht benutzt wird oder ldnger als 1
O Stunden in Betrieb ist, reinigen Sie die Linse mit medizinischem
Alkohol und einem Wattestabchen.

Ungereinigte Linsen schwachen die Leistung des Lasers.

Si le module laser n'est pas utilisé pendant une longue période ou s'il
est utilisé pendant plus de 10 heures, nettoyez la lentille avec de 'alcool
médical et un coton-tige.

Les lentilles non nettoyées affaiblissent la puissance du laser.

1.7 How to change the lens for LU2-10A | Auswechseln des Objektivs bei LU2-10A |
Comment changer la lentille pour LU2-10A

Remove it
Entfernen Sie es

Retirer la lentille




Important Note
DE - wichtiger Hinweis FR - Remarque importante

2.0 If you are using win7 or win8 system, you need to install the driver manually.
{ Wenn Sie ein Win7- oder Wing-5ystem verwenden, miassen Sie den Treiber manuell installieren,
/ Sivous utilisez le systéme win7 ou wing, vous devez installer le pilote manuellement.

2.1 Please turn on the machine and connect the computer with a USB cable before starting! ) )
/ Bitte schalten Sie die Maschine ein und verbinden Sie den Computer mit einem USB-Kabel, bevor Sie beginnen!
/ Veuillez allumer |2 machine et connecter ['ordinateur avec un cable USB avant de commencer!

2.2 Download Links / Download links / Liens de téléchargement; https.//zadig.akeo.ie/

[z

The downloaded driver must be version 2.5!
{ Der heruntergeladene Treiber muss Version 2.5 sein!
{ Le pilote telecharge doit etre la version 2.5!

23 [ zadig [E= )
Device [Options] Help
v List All Devices |

VMwar v Ignore Hubs or Composite Parents = |[CiEdt

)
|| ¥ Creste a Catalog File
Driver| o Sign Catalog & Install Autogenerated Certificate

| WindIS8 (ibysh)
iy R USBIL  Advanced Mode e
wep|  Leg Verbosity £ mﬂumm &
| 3 devices found. Zadlg 25730

Please run the driver with administratar privileges.
/ Bitte fuhren Sie den Treiber mit Administratorrechten aus,
/ Veuillez exécuter le pilote avec des privileges d'administrateur.

44-



UED oEF 03 00 — i
2 g

| |2 devices found.

Zacig 25730

Select "Espressif CDC Device {Interface 0)"
/ Wahlen Sie ,Espressif COC Device (Interface 0) " aus.
/ Selectionnez "Espressif COC Device {Interface 0)".

3 devices found, 2adig 25,730

Select "USB Serial (CDC)" from the list of drivers available, click the Install Driver button, and wait for the
installation to complete.

/ Wahlen Sie ,U5B Serial (CDC) " aus der Liste der verflgbaren Treiber, klicken Sie auf die Schaltflache Treiber
installieren und warten Sie, bis die Installation abgeschlossen ist.

/ Selectionnez "USB Serial (COC)" dans la liste des pilotes disponibles, cliquez sur le bouton Installer le pilote
et attendez |a fin de |'installation.

45-



Port Description
DE - Anschlisse FR - Désignation des ports

1. Reset Button / Reset-Taste 2. Power Input / Stromeingang

/ Bouton de réinitialisation / Entrée d'alimentation

3, USE Port / USB-Anschluss 4, Offline Controller / Offline-Controller
/ Port USB / Contrdleur hors ligne

5. Main Power Button (Press and hold for 5 seco
/ Hauptnetzschalter (Zum Einschalten 5 5
/ Bouton d'alimentation principal (4

t 5 secondes pour allumert)

-46-



Quick Start
DE - Schnellstart FR - Démarrage rapide

LaserGRBL is a free and open saurce software that supports Windows computers.
/ LaserGRBL ist eine kostenlose Open-Source-5oftware, die Windows-Computer unterstitzt,
/ LaserGRBL est un logiciel gratuit et open source qui prend en charge les ordinateurs Windows.

1.0: Download Link: https://lasergrbl.com/ %
/ Download-Link: https://lasergrbl.com/ ; R
/ Lien de téléchargement : https://lasergrbl.com/ p—

2.0: Connect / Verbinden / Connecter

4 LaserGRBL w4.8.0

Grbl File Colors language Tools (0| 3c0rGRBL and connect the machine.
COM [com3 v|Baud 115200 - / Offnen Sie LaserGREL und verbinden Sie die Maschine.
/ Ouvrez LaserGRBL et connectez la machine.

4t

2.1: Unlock / Entsperren / Déverrouiller

200 | [VEETRFRETIT] GO

Lines: 0| Buffer | | | Estimated Time: now 18 11.00s1 61 [1.00x0160 11004 Stass: [INEE

47-



3.0: Choose engraving picture / Wahlen Sie ein Gravurbild / Choisissez l'image de gravure

‘ % Open x
Gebl Fle Colors  Language  Toob # [mEwo_ain
oM oMl Bau 115300 z = i
Forww 1 Drganize = Plcture o- m @
Progress | T B

b OneDifve ORTUR
o T - orturlogo.p [= 2
Sortr e st 2 38 ey » T ::90!!
5 DLHILIL_Esr_ras V12

» W Theinternet

Filéname @i twe.peg | ey cupporied fle ©actcnc
Open 3

4.0: Engraving Settings / Gravureinstellungen / Paramétres de gravure

s Inport Rastor kristi
Paraaters

Bevize Sacath (M0 Bisubic)
Graysrale  Sisplekverage

Bri ghtnans —

Frevier Original

Cantraat e

{ Bitte Uberprifen Sie die Einstellungen anhand der Seriennummer!
/ Veuillez vérifier les parametres par numéro de sériel

White Clip EE——
oo

) Westurbae!
O Conterling
O Fuasthragh
Ling Te Line Optluns
Birsction Horirsntal

A Ay conl [ }—3
2: The greater the guality, the darker the color.

/ Je hoher die Qualitat, desto dunkler die Farbe.

/ Plus la qualité est élevée, plus la couleur est fanceée.

-48-



a 4: If the color of the engraving effect is lighter, please
reduce the speed
(Maximum supported speed is 3000mm/min)

[Liser Hods s - Bmmic Fover |———8—— 5. M4 is dynamic power, please select it

Iaage Size and Position [m]

[ hutosize (300 | mpD

Offzee ¥ 0.0 ¥ 0O

6: Control the light output power of the laser module.
If the engraving effect is too dark or burnt, lower its value!

[ize_wimo werd Jg——————— 7. Resize the engravingimage
o
8: Generate for engraving

Carieel

5.0: Cut Settings / Schnitteinstellungen / Paramétres de coupe

1

& Import Raster Image

Farssaters

Beriea Smaath (M) Bleubic) v
S S T Ty -]
Brightners | —
Comtrast | e—
Vhite Clip  S——
v

Comvarsion Tosl

) Line Te Lins Trasleg

bit M Ditharing
© Vestoriz! l
Cantarline
O Passthranch

Vectarize! Optians
Spat Bamoval i

Saesthing

Travien

Please check the settings by serial number!
o] / Bitte Uberpriifen Sie die Einstellungen anhand der Seriennummer!
1 Veuillez vérifier les paramétres par numeéro de série!

-49-



3: Theslower the speed, the deeper the cutting effect, but
the object may be burned!

Target imagn

el = Therefore, the cutting speed cannot be slowed down indef-
[ekde Spasd 100 | wihin |———H——— jnitely, and a minimum of 100mm/min is recommended.
Lazer Optiems

[Essar Hoks 15 - Constam 7ovar |——@——— 4: M3/is constant power, please select it

e B 5: Control the light output fthel dul

[Foa o immw  p— D¢ ght output power of the laser module.

Taagaci oy and Eakt i ban] If the engraving effect is too dark or burnt, lower its

[0 hskosize 200 | ez [ value!

6: Resize the cuttingimage

Offaes & 0.0 ¥ oo o LE

e 7: Generate for cutting

5.0: start engraving or cutting / Beginnen Sie mit dem Gravieren oder Schneiden
/ Commencez & graver ou a découper

4 LaserGRBL v4.8.0
Grbl File Colors Language Tool
COM |com3 Baud 115200 &

Filename orturlogo png
Progress | (=

o

-50-



Modify parameters before using YRR2.0
DE - Andern Sie die Parameter, bevor Sie YRR2.0 verwenden
FR - Modifier les paramétres avant d'utiliser YRR2.0

3 LaserGRBL v4.8.0 e
Grbl Fle Colors Language Tools Im‘: e prrre— ;
| & Disconnect o ot e i i e s deio e |
#17 Pullup @isanle contsil pins

Bt = fvin | mutsap sssuie Siair e s e s R ‘I
% Homing F]T ﬁp $1$ |Dullup disshle prese pin Disable she peobe signal pullup Eesiwsor.. |
@ ok |
00 Grbl Configuration __JJuiccreol a ins noming rie. Bepusses dimse v

! Aosing SapwcTice iaTert i | Woming sssrches for & switch in the posi
% Settings | 24 |Homing locate fesd rets $00.090  mesmin Fasd rive to slovly ssgege limin svisch ... ‘
[ Material DB _ R e e e e e
&) Hotkeys for hel
A Bt i | ln“"“" | e s Falive iy e s | J
1: Click "Grbl Canfiguration". 2: Change the "Value" of "$22" ta 0.

/ Klicken Sie auf ,Grol-Konfiguration / Andern Sie den "wert" von *$22" auf 0.
/ Cliguez sur "Configuration Gril" / Remplacez la "Valeur" de "$22" par 0.

3: Click "write" to save the modification, and then click "Refresh” to check whether the madificatian is successful.

/ Klicken Sie auf ,Schreiben “, um die Anderung zU speichern, und klicken Sie dann auf , Aktualisieren ", um zu
prifen, ob die Anderung erfolgreich war.

/ Cliguez sur *Ecrire" pour enregistrer la modification, puls cliguez sur "Actualiser” pour verifier si la modification a réussl.

When not using YRR2.0, please restore the parameters to the initial values!
/ Wenn Sie YRR2.0 nicht verwenden, setzen Sie die Parameter bitte auf die Anfangswerte zurtck!
/ Lorsgue vous n'utilisez pas YRR2.0, veuillez restaurer les parametres aux valeurs initiales |

51-



Company: Dongguan Ortur Intelligent Technologies Co., LTD.

Address: Building 4, No. 6, Tianheng Road, Changping Town,
Dongguan City, Guangdong Province

www.orturtech.com

ElEiE

Youtube Instagram Twitter Facebook Support

FDA CEFE ™ 7 2 @&=-=Mm RoHS &§






RTUR



